THSEE BEENXTHE

SM3FE4A1B~5M45E3HA31H

(B FH)
B & # B FEEPHE | MEETHEE | E51ERE w &

1. KBEIA 2,170 2,155 15

2. HEIRA 450 450 0

3. BREREMMEBIA 45,023 45,058 A 35

I |4, ZESRA 47,533 45,894 1,639

5 BfFEERA 200 200 0

% Ale. &#ELIXA 168 192 A 24

% 7. WA BEHEINA 53 80 A 27

g 8. TDDULA 1,100 1,100 0

- HEFE B IR A RO 96,697 95,129 1,568

%t 1. AHEXH 67,801 66,548 1,253

”é 2. EEEIH 20,330 20,006 324

X3 F=HEXH 998 995 3

4. BEREREFEXH 200 200 0

|5 BmEx 3,877 4,004 A 127

6. HIEEXH 250 250 0

EXFTH X HEHO 93,456 92,003 1,453

EXTHESNXEE (3=1-2) 3,241 3,126 115

5 | ax 1. BIEEEFTEIRA 0 0 0

z| |2 zorommEEEcLImA o 0 0
z1A T B B 0K % XA B (@) | 0

=g |1 EEREREES 1] 0 10

2| |2 zoronnEmsicsszm Rl 0 0

”322 H 5 B B % X Mt (5) 10| 0 10

ERBHEESNTEE (6=4-5) A 10| 0 A 10

2 |y | L EEmR A o 0 0

o| |2 v—exxsmersma o 0 0

o1 Z 010 &8I A R () q 0 0

S| gemmmEs o 0 0

= | X|2. ¥—EARHREIBRAS T H 0 0 0

%t 3. ZothoEEICLDXZ 3,031 2,926 105

Iz Z D it 0 E X H E(8) 3,031 2,926 105

X ZTOMTFEEEINEZEH (9 =7-8 ) A 3,031 A 2,926 A 105

FREXH (10) 200 200 0

LYESNFEEAH ( 11=3+6+9—-10 ) o 0 0

MARXZLEEZE (12) 21,562 23,784 A 2,222

LA EEERE (183=11+12) 21,562 21,562 0




